
 
TennCare Enrollee 7 Match Criteria 
  

TENNCARE ENROLLEE 7 MATCH CRITERIA LOGIC INTERPRETATION  
USED WHEN NO VALID RID IS SUPPLIED ON INCOMING TRANSACTION: 

In this Match Logic there are six (6) data elements that will be u  
in a match from the incoming file to the database. 

• Last Name  
• First Name  
• Middle Initial  
• Social Security Number (SSN)  
• Date of Birth (DOB)  
• Gender (Sex) 

  
The matching of the file to the database has the following match 
logic: 
  

1. (Match 1) If the First Name, Last Name, SSN and DOB are 
a 100% match then the process assumes there is a match 
and proceeds.  

ELSE 
2. (Match 2) If the first name, Last Name, and DOB matches 

and the database record has a SSN number beginning with 
‘990’ then the process assumes there is a match and 
proceeds.  

ELSE 
3. (Match 2) If the first name, Last Name, and DOB matches 

and the incoming transaction record has a SSN number 
beginning with ‘990’ then the process assumes there is a 
match and proceeds.  

ELSE 
4. (Match 3) If the First name, Last Name, and the SSN 

match but the DOB is not an exact match then the month, 
day and year are compared separately and if 2 of the 3 
components match then the process assumes there is a 
match and proceeds.  

ELSE 
5. (Match 4) If the Last Name, DOB, Sex and SSN matched 

then the first letter of the first name is matched. If 
that matches then the process assumes there is a match 
and proceeds.  

ELSE 
6. (Match 5) If Last Name, Sex, SSN, and the first four 

letters of the First Name matches but the DOB is not an 
exact match then the DOB month, day and year are 
compared separately and if 2 of the 3 components match 
then the process assumes there is a match and proceeds.  



 
ELSE 

7.  (Match 5) If Last Name, Sex, DOB, SSN and the first 
four letters of the First Name matches then the process 
assumes there is a match and proceeds 

ELSE 
8.  (Match 5) If Last Name, Sex, DOB, and the first four 

letters of the First Name matches and the data base SSN 
starts with ‘990’  then the process assumes there is a 
match and proceeds 

ELSE 
9.  (Match 5) If Last Name, Sex, DOB, and the first four 

letters of the First Name matches and the incoming 
transaction SSN starts with ‘990’  then the process 
assumes there is a match and proceeds 

ELSE 
10.  (Match 6) If SSN, Sex,  the first four letters of the 

First Name matches but the DOB is not an exact match 
then the DOB month, day and year are compared separately 
and if 2 of the 3 components match then the process 
assumes there is a match and proceeds.  

ELSE 
11.  (Match 6) If SSN, Sex, DOB, and the first letter of the 

First Name matches then the process assumes there is a 
match and proceeds 

ELSE 
12.  (Match 7) If First Name, Last Name, Middle Initial, DOB 

and Sex matches then the process assumes there is a 
match and proceeds. 

ELSE 
13.  After these tries then “No Match”. 

  

  
1.1.1      Data Study – Identify the same person on interChange and ACCENT 

Since the ACCENT system creates Recipient IDs (RIDs) on new persons and sends those RIDs 
to interChange the majority of the RIDs between the two systems should result in a 
match.  However not all RIDs are created by ACCENT.   It is possible to get a RID on a person 
from the ACCENT system that is not an active person on the interChange system (such as the 
SSI persons).  In that situation the conversion logic will use the inactive RID file from 
interChange to find the corresponding active person RID on interChange.   

The interChange active person RID will be used for the match and data will be stored for the 
interChange active person RID using the ACCENT data on the inactive RID.  The two 
unmatched RIDS will be linked together – based on the inactive RID file, a new person record 
will not be created. 



 
It is also possible to have matching RIDS that are not the same person so a secondary match will 
also be done.  This secondary match is known as the 4 match criteria and is used when a RID 
does match.  When a RID is linked to an inactive RID as noted in the prior paragraph, that link 
will be considered a match. 

The process looks at 6 items: 
1)    First name 
2)    Last name 
3)    SSN 
4)    Year of birth 
5)    Month of birth 
6)    Day of birth 
  
If three or more of the six items above match (the RID makes a total of four) then the match is 
considered the same person and processing continues. 
If less than three of the above an error is set and the ACCENT record will not update the 
database and will be written to a report. 

1.1.2      Data Study – Reports 
Reports will be created as part of the matching process for TennCare to review.  The potential 
duplicates reports will include the following three reports: 

•       Person records in interChange that have the same SSN, 
•       Person records in CoverKids that have the same SSN, 
•       Persons where interChange and CoverKids clients have the same SSN but are not 

considered a match using the TennCare 7 match criteria.   
  
Since CoverKids uses all spaces or all 9’s to denote an invalid or temporary SSN, for purposes of 
this report, when the TennCare 7 match criteria that states “SSN starts with ‘990’”the 
code will actually look for ‘990’, ‘999’ or ‘   ‘. 
A gender code of ‘U’ – unknown on both systems will not be considered a match during the 
match process. 
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